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4e
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alpha13_4eX1X:cyclenum {run == 8397}
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0
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alpha46_4eY4aY:cyclenum {run == 8397}

11510 11510.5 11511 11511.5 11512
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4−

3.5−

3−

2.5−

2−

de
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X

delta13_12X4eX:cyclenum {run == 8397}
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1−
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0
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delta46_12X4eY:cyclenum {run == 8397}
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run:cyclenum {run == 8397}
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segment:cyclenum {run == 8397}
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73−

72.5−

72−

71.5−

71−us
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1X
usl_1X:cyclenum {run == 8397}
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1.4
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2.2

2.4

2.6
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usl_4aY:cyclenum {run == 8397}
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cyclenum

6

6.5
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7.5

8
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X

usl_4eX:cyclenum {run == 8397}

11510 11510.5 11511 11511.5 11512
cyclenum

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

19.4

19.6

19.8
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l_

4e
Y

usl_4eY:cyclenum {run == 8397}
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cyclenum

38−

37.5−

37−

36.5−

36−
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X

usl_12X:cyclenum {run == 8397}
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cyclenum

8395
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8398.5

8399
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n

run:cyclenum {run == 8397}



11510 11510.5 11511 11511.5 11512
cyclenum

117−

116.5−
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115.5−

115−us
r_

1X

usr_1X:cyclenum {run == 8397}
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0

0.2
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1
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1.4
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Y

usr_4aY:cyclenum {run == 8397}

11510 11510.5 11511 11511.5 11512
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4e
X

usr_4eX:cyclenum {run == 8397}
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cyclenum

14.5
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Y

usr_4eY:cyclenum {run == 8397}
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cyclenum

39.5−

39−

38.5−

38−

37.5−
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X

usr_12X:cyclenum {run == 8397}
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cyclenum
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8397.5

8398

8398.5
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n

run:cyclenum {run == 8397}



11510 11510.5 11511 11511.5 11512
cyclenum

16805.2
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16806
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16807

16807.2

16807.4
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l_
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usl_coil1:cyclenum {run == 8397}
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2392.6

2392.8

2393

2393.2

2393.4

2393.6

2393.8

2394
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2394.4

2394.6

2394.8
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usl_coil3:cyclenum {run == 8397}
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cyclenum

5605
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usl_coil4:cyclenum {run == 8397}
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cyclenum

3042.8−

3042.6−

3042.4−

3042.2−

3042−

3041.8−

3041.6−

3041.4−

3041.2−

3041−

3040.8−

3040.6−
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il6

usl_coil6:cyclenum {run == 8397}
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cyclenum

2072.6

2072.8

2073
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2073.4

2073.6

2073.8
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2074.2
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2074.8
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usl_coil7:cyclenum {run == 8397}
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run:cyclenum {run == 8397}
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15367.4−

15367.2−
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usr_coil1:cyclenum {run == 8397}
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1907−

1906.5−
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usr_coil3:cyclenum {run == 8397}
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cyclenum
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5400.5
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usr_coil4:cyclenum {run == 8397}
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2849.5−

2849−

2848.5−
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usr_coil6:cyclenum {run == 8397}
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cyclenum
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usr_coil7:cyclenum {run == 8397}
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run:cyclenum {run == 8397}
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1X_coil1:cyclenum {run == 8397}
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1X_coil3:cyclenum {run == 8397}
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257.2

257.4

257.6

257.8
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1X_coil7:cyclenum {run == 8397}
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234.5−
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4eX_coil1:cyclenum {run == 8397}
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4eX_coil3:cyclenum {run == 8397}
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4eX_coil7:cyclenum {run == 8397}
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4aY_coil4:cyclenum {run == 8397}
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4aY_coil6:cyclenum {run == 8397}
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47.5−
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4aY_coil7:cyclenum {run == 8397}
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4eY_coil4:cyclenum {run == 8397}
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136.2−
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11510 11510.5 11511 11511.5 11512
cyclenum

91−

90.5−

90−

89.5−

89−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8397}
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11510 11510.5 11511 11511.5 11512
cyclenum

532−

531.5−

531−

530.5−

530−
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